

exceeding expectations

# **Party Tent Packages**



#### **Rope & Pole Tents**

Rope & pole tents are the most cost effective way to provide cover for you party or event. These Tens have center poles and must be staked into the ground. Each tent as rope lines that extend out approximately 6' around the perimeter of the tent



#### **Frame Tents**

Frame tents are self-supporting units that can be set on grass and most other surfaces, staking is normally required. This is the perfect tent style to put up right in front of the garage.

### Packages Include

**Tents** 

**Guest Tables** 

**Serving Tables** 

Chairs

**Linen Tablecloths** 

### **Upgrade Options**

**Tent Accessories** 

Catering Equipment

**Dance Floor** 

Staging

And more!

## **Customer Installed Small Tent Packages**

#### Package A

Seats 16 Guests

15 x 15 or 16x 16 Rope & Pole Tent

**Grass Surface Only** 

- 1 Rope & Pole Tent
- 2 6' Rectangle Tables
- 2 60" Round Tables
- 16 White Chrome Folding Chairs
- 2 90" Round Linens any Color
- 2 60"x 120" Linens any Color

**Customer Installs** 

\$445.00

#### Package B

Seats 32 Guests

20 x 20 Rope & Pole Tent

**Grass Surface Only** 

- 1 Rope & Pole Tent
- 2 8' Rectangle Tables
- 4 60" Round Tables
- 32 White Chrome Folding Chairs
- 4 90" Round Linens any Color
- 2 60"x 120" Linens any Color

Customer Installs

\$615.00

#### Package C

Seats 48 Guests

20 x 30 Rope & Pole Tent

Grass Surface Only

- 1 Rope & Pole Tent
- 2 8' Rectangle Tables
- 6 60" Round Tables
- 48 White Chrome Folding Chairs
- 6 90" Round Linens any Color
- 2 60"x 120" Linens any Color

**Customer Installs** 

\$780.00



Customer Install tent packages are <u>Will Call Only</u> and are required to be staked only on grass.

Taxes and damaged waver not included

## Ultimate Events Installed Small Tent Packages

#### Package A1 Seats 32 Guests

20 x 20 Frame Tent

- 1 Frame Tent
- 2 8' Rectangle Tables
- 4 60" Round Tables
- 32 White Chrome Folding Chairs
- 4 90" Round Linens any Color
- 2 60"x 120" Linens any Color

Ulitmate Events Installs \$850.00

#### Package B1 Seats 48 Guests

20 x 30 Frame Tent

- 1 Frame Tent
- 2 8' Rectangle Tables
- 6 60" Round Tables
- 48 White Chrome Folding Chairs
- 6 90" Round Linens any Color
- 2 60"x 120" Linens any Color

Ultimate Events Installs \$1,180.00

### Package C1 Seats 64 Guests

20 x 40 Frame Tent

- 1 Frame Tent
- 2 8' Rectangle Tables
- 8 60" Round Tables
- 64 White Chrome Folding Chairs
- 8 90" Round Linens any Color
- 2 60"x 120" Linens any Color

Ultimate Events Installs \$1,495.00



Tax, damage waiver, and delivery and pickup not included.

Staking in grass is included, call 763-559-8368 for weighted tent options on non-grass surfaces.

## Pick and Choose – Shop A La Carte

## **Customer Setup Tents Only**

10 x 10 EZ Up	\$133.50
16 x 16 Rope & Pole Tent	\$262.00
20 x 20 Rope & Pole Tent	\$309.00
20 x 30 Rope & Pole Tent	\$355.00

### Chairs





	4
4' x 30''	\$16.00
6' x 30''	\$16.20
8' x 30''	\$16.60



48''	\$17.60
60''	\$18.40
72"	\$22.70



24"x 30" or 42" \$18.70 30"x 30" or 42" \$18.70 36"x 30" or 42" \$18.70

Visit our website to shop online.

www.ue-mn.com